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Math 125 Test 4 - Sample ‘
Show all work in an organized manner. No partial credit will be given if | cannot easily determine what you did. Write answers as ordered pairs where
appropriate. Take time to check! Because thisis a take home test | expect exceptional work. Partial credit will be limited.

100 points

+2y=6
¥ 7 three different ways as requested below. No credit if the wrong method is used. In part (d) you are asked to check.
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(1) Solve the system

on each graph. (10 points)
X+ Z2Y=6 2X-Y=1
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(b) Solve the system using the substitution method. (7 points)

5 Y+H2y=6 E\(:(o‘Z\I . Z(Ia—zy)‘y:7 Find corresp X

o =7
2x~\y=1 X-Y =77 L
p solue-For eHnwer v;//m.bb 12 —dy -y =7 X=0b Z\f
P amd subshtule. T chose X. (2_,5\/ = C=tl-zL1)
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g (c) Solve the system using the glimination method. (7 points)
N =

“ K+2y =6 X+2Y=F ,4q 5Sx=20
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~+ elimnating J
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) X+2y =6 mu 62 ’;X-ﬁéxlzvl’l—}add —-5\7:;-5
3 Zx -y =7 o=y =T V=i
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j (d) Show a complete check to the answer in part c. (3 points)

2
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Note 2 These Can oll be eas; tY checked.

You con use erther method - Solutions shsw my apgpach

(2) Solve using any method. State the name of the method you use. Show all steps clearly.

2x+10y =3
@ {J{;I—Sy
Substitution

2 Cl-sy)+loy =3
22— oy Hloy=3
L= B
\Variables dfbpg ow
False Sketrement.

No Solution, system
IS Inconsistent.
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(7 points each)

x—2=>

Substituh on
BX-2K&-2)=¢
B —ax +4=¢
Y E4=6C

X =2
Flird COYr@POnd 143 \j’

(J = X"Z ':Z"Z_ :D

(2,0)

5 {3x—2y =6

" {4x_2y-1o 4x-2y=10 . {%x+%y=—% Mult(s) +v deor frachons
Elimination ___?3—\,_:2_1 ( B oy = =gy
=3 ‘_E” i3x rlO\,:-Z_Z—I»
- X=V =
Faind Corresp, X Y==3 & \/ q ﬁmuH—.
_ Elvminat o~ Y1 fo
2X+3y=-7 elim. X5
2X+3(—3)="7 _g’;’:’\oy_l:zd Find corresg X.
2%x —9=—7 7 =1 3x—Yy=9
o = 2 H\/: 33 33X =--3)=9
x= | V=-3 3xt3=9
3X=¢ -
(1,-3) =z (23
o {9x+4y=—3 AXt+4y=—3 mul+ 3 QIxX+12y=-9
6x=—6y-7 G X #éy:*‘? mult(-2) —3y — /lyj__/j_
E/;m,mhp‘n.--e/m'mml-ccjg---gzv‘lzj Isx =5
X=4
Find Corresy.
¢ d Qx+4y = —3
W)= i —s)
3+4y="3 3, %
N =—65
="l - -
ye"g=2
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(3) Graph the solution to the system of inequalities. il (10 points)
2x+3y=6
Label both llines and make sure your solution is clearly shown. Yy >3%
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(4) Setup a SYSTEM of equations with TWO variables and solve. Be sure to show what your variables represent.
A certain plane flying with the wind travels 540 miles in 2 hours. Later, flying against the wind, the plane travels 690 miles in 3

hours. Find the speed of the plane in still air and the speed of the wind. (9 points)
rate ofF wind2 w
r |t 1d —=—> SHomiles Zhes,
wl{'thvA! Ptw | 2 |2ptw) %WO T GRomiles Bh

Oﬂﬂln‘a‘\ [ p-w | 3 3(P"'U)j: 70 gpeed o plane mshil air: P

divide 2

2(F+W):5L;.D/—\s P+\/\/=Zr70 QP ~500 P:ZSO
B(P—w):eqoms P —w =230 Find w,
G Eliminale W ptw=270
dontravete by adding 250+ W =70
doHns wWay) Ww=220
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(5) Setup a SYSTEM of equations with TWO variables and solve. Be sure to show what your variables represent..
A collection of 19 coins consists of dimes and quarters. How many of each type of coin is there in the collection if the total value is $2.957

—#: dlme5 - A (9 points)
+ %uar+ers: %
19 Coins = d+ob: 19 *IE cl\,J: 19 -
5] 295 chlue > chH’ZS%:ZqS lDd+2—5_% :qu

Solve system | showon here (s subshtwtion

lo(m—ob%ﬁz‘*”i
1510—107)4'957)”27
(90 + 159 =275
/53 /05
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(6) Find the equation of each of the following lines. Express your answer in slope intercept form.

(5 points each)
(a) The line through (0,2) and parallel to the line 2x-4y=7.

EE'.H our line parallel +o This so hasg oy
Slope Find sloge hece.
— =7
pom’t (o,1) = Lne Zx_:{'\/_ e
m= 1/, vy ‘1:_22( 5 =L y-27
\/ =1 7 \[ ol _:Ef’:— 2 Im)
=V,

(b) The line through (2, -5) and (3, 2)

Need Pom—t‘ - (3,2,} CM.SC ee-)

=7

sopez Y2, _ 2-75 4

X 2K, 3 -2 \
€D V=Vi=mdc-x)
= 2=7(x~-3)
-2 = =21

V=772X =19 cancheck---BoTH points
Should be en line



